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	Средние
	

	Тест
	Дисбаланс D
	Величины
	Дисбаланс A

	Относительная плотность 
	высокий
	1.016
	низкий

	рН

рн
	низкий
	6.2
	высокий

	Поверхностное натяжение
	низкий
	68
	высокий

	Калий сыворотки
	высокий
	4.5 мэкв
	низкий

	Калий цельной крови
	низкий
	38 мэкв
	высокий

	Температура тела
	низкий
	37°C

-J 1 ^
	высокий

	Лейкоциты
	низкий
	7000/ cм3
	высокий

	Еозинофилы
	низкий
	100/ cм3
	высокий

	Хлоридный индекс
	высокий
	2.1
	низкий

	Кальциевый индекс
	низкий
	2.5
	высокий

	Хлориды сыворотки

 Характер боли
	высокий щелочной
	525 мг %

----------
	низкий

кислотный


1) 1.005 – 1.016 – 1.030

2)  5.6    -    6.2  -    6.8

3)   50  -      68   -    70

